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QUESTION 1

DATADIR1 and DATATDIR2 are database directory objects.
Examine this command:

[oracle@host01 ~] expdp system/oracle \

> FULL=y \

> DUMPFiLe=datadir1:full%U.dmp, datadir2:full2%U.dmp \

> FILESIZE=2G \

> PARALLEL=4\

> LOGFILE=datadirl:/expfull.log \

> JOB_NAME=expfull

Which two statements are true about the expdp operation? (Choose two.)
A. It fails if the total size of the dump file is more than 2GB.

B. It starts only when four worker processes are available.

C. It creates a master table to store details of the export operation.
D. It creates dump files for the entire database.

E. It creates dump files only for objects in the SYSTEM schema.

Correct Answer: CD

QUESTION 2

You want to use table compression suitable for OLTP that will:
1.

2.

Compress rows for all DML statements on that table

3.

Minimize the overheads associated with compression

Which compression option is best suited for this?

A. COLUMN STORE COMPRESS FOR QUERY LOW
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B. ROW STORE COMPRESS BASIC

C. COLUMN STORE COMPRESS FOR ARCHIVE LOW
D. COLUMN STORE COMPRESS FOR ARCHIVE HIGH
E. ROW STORE COMPRESS ADVANCED

Correct Answer: E

Reference: https://www.oracle.com/technetwork/database/options/compression/advanced-compression-
wp-12¢-1896128.pdf

QUESTION 3

Which four statements are true regarding primary and foreign key constraints and the effect they can have on table
data? (Choose four.)

A. A table can have only one primary key but multiple foreign keys

B. A table can have only one primary key and one foreign key

C. The foreign key columns and parent table primary key columns must have the same names

D. It is possible for child rows that have a foreign key to remain in the child table at the time the parent row is deleted

E. It is possible for child rows that have a foreign key to be deleted automatically from the child table at the time the
parent row is deleted

F. Only the primary key can be defined at the column and table level
G. Primary key and foreign key constraints can be defined at both the column and table level

Correct Answer: ADEG

QUESTION 4

Which three statements are true about the DESCRIBE command? (Choose three.)

A. It displays the PRIMARY KEY constraint for any column or columns that have that constraint
B. It can be used from SQL Developer

C. It displays the NOT NULL constraint for any columns that have that constraint

D. It can be used to display the structure of an existing view

E. It displays all constraints that are defined for each column

F. It can be used only from SQL*Plus

Latest 120-082 Dumps | 120-082 VCE Dumps | 1Z0-082 Exam Questions 3/4


https://www.geekcert.com/1z0-082.html
https://www.geekcert.com/1z0-082.html
https://www.geekcert.com/1z0-082.html

VCE & PDF https://lwww.geekcert.com/1z0-082.html
2024 Latest geekcert 120-082 PDF and VCE dumps Download

GeekCert.com

Correct Answer: BCD

QUESTION 5

The INVOICE table has a QTY_SOLD column of data type NUMBER and an INVOICE_DATE column of data type
DATE.

NLS_DATE_FORMAT is set to DD-MON-RR.

Which two are true about data type conversions involving these columns in query expressions? (Choose two.)
A. CONCAT (qgty_sold, invoice_date) : requires explicit conversion

B. invoice_date = \\'15-march-2019\\' : uses implicit conversion

C. invoie_date >\\'01-02-2019\\' : uses implicit conversion

D. gty_sold BETWEEN “101\\' AND \W110\\' : uses implicit conversion

E. qty_sold = "0554982\\' uses implicit conversion

Correct Answer: BD
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